é gz @ Berdkna procenttal

flamit: Datum: Poiing:
8 x 20% = 83 x 70% =
32 x30% = 15 x 60% =
98 x20% = 3 % 40% =
61 x20% = 11 x 60% =
65 % 50% = 86 x 90% =
13 x20% = 75 % 70% =
81 x 20% = 37 x 50% =
72 % 10% = 87 x 10% =
21 x 50% = 25 x 60% =
10 x 40% = 37 x 30% =
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AP OOV

Berdkna procenttal
namn: Datum: Poéng:
8x20%=1.6 83 x 70% = 58.1

32 x30% = 9.6

98 x20% = 19.6

61 x20% =12.2

65 x 50% = 32.5

13 x20% = 2.6

81 x20% = 16.2

72 % 10% = 7.2

21 x50% = 10.5

10 x 40% = 4

15 x60% =9

3x40% = 1.2

11 x60% = 6.6

86 x90% = 77.4

75 x70% = 52.5

37 x50% = 18.5

87 x 10% = 8.7

25 x 60% = 15

37 x30% =11.1
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